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TNPSC GROUP i MAIN EXAM – 2023 
Mandatory test V 
UNIT- II Social Issues 

UNIT- III: General Aptitude & Mental Ability (SSLC Standard) 

Total Marks: 250               Time: 3 hrs 
 

Section A 
10 x 10 = 100 

Answer the following in 150 words each 
 

1. Write a short note on Hospital on Wheels and its Significance. 
elkhLk; kUj;Jtkid kw;Wk; mjd; Kf;fpaj;Jtk; Fwpj;J Fwpg;G tiuf 
 

2. Explain RIGHTS Project and its Objectives. 
RIGHTS jpl;lk; kw;Wk; mjd; Nehf;fq;fs; Fwpj;J tpsf;Ff 
 

3. Write a note on the Role of NGOs in protecting Human Rights. 
kdpj chpikfisg; ghJfhg;gjpy; jd;dhh;T njhz;L epWtdq;fspd; gq;F Fwpj;J vOJf 
 

4. Mention any five women organizations in India 
,e;jpahtpd; VNjDk; Ie;J ngz;fs; mikg;Gfs; Fwpj;J vOJf 
 

5. Discuss the similarities and differences in Chief Minister’s Breakfast Scheme and Nutritious 
Meals Scheme. 
Kjyikr;rhpd; fhiy czTj; jpl;lk; kw;Wk; rj;JzTj; jpl;lk; ,uz;bw;Fk; ,ilNa cs;s 
xw;Wikfs; kw;Wk; NtWghLfs; Fwpj;J tpthjp 
 

6. Write a note on the following  
gpd;tUtdtw;wpw;F Fwpg;G tiuf 
 
a. Kalaignar Nagarpura Mempattu Thittam 

fiyQh; efh;Gw Nkk;ghl;L jpl;lk; 
 

b. Namakku Naame Thittam (Urban) 
ekf;F ehNk jpl;lk; (efh;g;Gwk;) 
 

7. Discuss the importance of Sanitation for a Healthy Society  
MNuhf;fpakhd rKjhaj;jpw;F Rfhjhuj;jpd; Kf;fpaj;Jtk; Fwpj;J tpthjp 
 

8. Enlist the literary programmes of Tamil Nadu. 
jkpo;ehl;bd; vOj;jwpT jpl;lq;fis gl;baypLf 
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9. Answer the following  
gpd;tUtdtw;wpw;F tpilasp 
 

a. Vaidegi sold two sarees for ₹2200 each. On one she gains 10 % and on the other she loses 
12 % . Find her total gain or loss percentage in the sale of the sarees. (5m) 
itNjfp> ,U Nriyfis jyh &.2200 ,f;F tpw;whs;. xd;wpd; kPJ 10% ,yhgj;ijAk; 
kw;nwhd;wpd; kPJ 12% el;lj;ijAk; mile;jhs; vdpy;> Nriyfis tpw;wjpy; mtspd; 
,yhgk; my;yJ el;lr; rjtPjj;ijf; fhz;f 
 

b. If the numerator of a fraction is increased by 240% and the denominator of the fraction is 

decreased by 50%, the resultant fraction is 
5

2
6

. What is the original fraction? (5m) 

xU gpd;dj;jpd;  njhFjpia 240% mjpfupj;J> mjd; gFjpia 50% Fiwj;jhy;> 

gpd;dj;jpd; kjpg;G 
5

2
6  
vdpy;> mry; gpd;dj;ijf; fhz;f. 

 
10. Answer the following 

gpd;tUtdtw;wpw;F tpilasp 
 
a. Three angles of a triangle are x - 30°, x - 45°, x + 15°, Find the measure of each angle. (5m) 

Kf;Nfhzj;jpd; %d;W Nfhzq;fs; x - 30°, x - 45°, x + 15°vdpy; xt;nthU Nfhzj;jpd; 
msitAk; fhz;f. 

 
b. If a twelve-sided regular polygon is inscribed in a circle of radius 3 cm, find the length of 

side of the polygon (5m) 
3 nr.kP Muk; nfhz;l tl;lj;jpDs; mike;j gd;dpnuz;L gf;f xOq;F gyNfhzj;jpd; 
gf;fj;jpd; ePsj;ijf; fhz;f 

  
SECTION B 

10 x 15 = 150 
 

Answer the following in 250 words each 
 
 
11. Write a note on Crime against women and its impact on society. 

ngz;fSf;F vjpuhd Fw;wq;fs; kw;Wk; rKjhaj;jpy; mjd; jhf;fq;fs; Fwpj;J Fwpg;G tiuf 
 

12. Enlist the social legislations for the protection of women and children. 
ngz;fs; kw;Wk; Foe;ijfSf;fhd r%f ghJfhg;G rl;lq;fis gl;baypLf 
 

13. Enumerate the Vision, Mission and objectives of the Nan Mudhalvan Scheme. 
ehd; Kjy;td; jpl;lj;jpd; njhiyNehf;F> gzp kw;Wk; Nehf;fq;fs; Fwpj;J tpsf;Ff 
 
 

14. List out the causes and problems of Child Abuse in India. Do you think sex education is the 
need of the hour? 
,e;jpahtpy; Foe;ijfSf;F vjpuhd Fw;wq;fSf;fhd fhuzq;fs; kw;Wk; gpur;ridfis 
gl;baypLf. ghypdf; fy;tp jw;Nghija Njit vdf; fUJfpwPh;fsh? 
 

15. Is there are any innovations in Pudhumai Penn Scheme and discuss its impact on society. 
GJikg;ngz; jpl;lj;jpy; VNjDk; GJikfs; cs;sdth kw;Wk; r%fj;jpy; mjd; jhf;fk; 
Fwpj;J tpthjp 
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16. Write an essay on Social Changes in India with reference to norms, value and culture. 
newpKiwfs;> kjpg;G kw;Wk; fyhr;rhuk; Mfpatw;iwf; nfhz;L ,e;jpahtpy; r%f khw;wq;fs; 
Fwpj;J xU fl;Liu tiuf 
 

17. Elaborate the history, organizational structure and schemes implemented by the Tamil 
Nadu Corporation for Development of Women (TNCDW).  
jkpo;ehL kfsph; Nkk;ghl;L epWtdj;jpd; tuyhW> epWtd mikg;G kw;Wk; mJ nray;gLj;Jk; 
jpl;lq;fs; Fwpj;J tpthp 
 

18. What are the key components of Tamil Nadu Urban Health Care Project? 
jkpo;ehL efh;g;Gw Rfhjhu eyj;jpl;lj;jpd; Kf;fpa $Wfs; ahit? 
 

OR 
 

Write a short note on the following  
gpd;tUtdtw;wpw;F Fwpg;G tiuf 
 
a. Makkalai Thedi Maruthuvam 

kf;fis Njb kUj;Jtk; 
 

b. Innuir Kappom 
,d;Daph; fhg;Nghk; 
 

c. Kalaignarin Varumun Kappom Thittam 
fiyQhpd; tUKd; fhg;Nghk; jpl;lk; 

 
19. The angle of elevation of an aeroplane from a point A on the ground is 60°. After a flight of 

15 seconds horizontally, the angle of elevation changes to 30°. If the aeroplane is flying at a 
speed of 200 m/s, then find the constant height at which the aeroplane is flying.  
fpilepiyapy; gwe;J nfhz;bUf;Fk; xU Mfha tpkhdj;ij A vd;Dk; Gs;spapypUe;J 
ghh;f;Fk; NghJ mjd; Vw;wf;Nfhzk; 60°. mt;tpkhdk; fpilepiyapy; 15 tpdhbfs; gwe;j 
gpd; mNjg; Gs;spapypUe;J me;j Mfha tpkhdj;jpd; Vw;wf;Nfhzk; 30° Mf khWfpwJ. 
,t;tpkhdk; 200 kP/tp Ntfj;jpy; gwe;J nfhz;bUe;jhy;> tpkhdk; gwe;J nfhz;bUf;Fk; 
khwhj fpilepiy cauj;ijf; fhz;f 

 
20. Answer the following 

gpd;tUtdtw;wpw;F tpilasp 
 
a. The population of a village has a constant growth of 5% every year. If its present 

population is 1,04,832, what was the population two years ago? (5m) 
xU fpuhkj;jpd; kf;fs;njhif xNu rPuhf xt;nthU Mz;Lk; 5% tPjj;jpy; $bf;nfhz;L 
nry;fpwJ. ,g;nghOJ mjd; kf;fs;njhif 1,04,832 vdpy; ,uz;L Mz;LfSf;F Kd; 
vd;dthf ,Ue;jpUf;Fk;? 

 
b. A shopkeeper marks his goods at such a price that after allowing a discount of 12.5% on 

the marked price, he still earns a profit of 10%. Find the marked price of an article which 
costs him Rs. 4900.(5m) 
xU filf;fhuu; jdJ thbf;ifahsu;fSf;F 12.5% js;Sgb je;Jk; 10% ,yhgk; 

ngWfpwhu;. xU nghUspd; cz;ik tpiy ₹ 4900 vdpy; mjd; Fwpj;j tpiyia fhz;f. 
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c. In a leadership election between two persons A and B, A wins by a margin of 192 votes. 
If A gets 58% of the total votes, find the total votes polled. (5m) 
xU jiyikiaj; Njh;e;njLf;Fk; Njh;jypy; A kw;Wk; B Mfpa ,U egh;fspy; A Mdth; 
192 thf;Ffs; tpj;jpahrj;jpy; ntw;wp ngWfpwhh;. nkhj;j thf;Ffspy; A Mdth; 58% Ig; 
ngWfpwhh; vdpy;> gjpthd nkhj;j thf;Ffisf; fhz;f 

 


